Efficiency vs hit

0 0.5
=
=
0.4
>
g 0.
=
Qo
'50.3!
3
0
0.2!
0
0.1
0.
0.0 ; -
o
g ||||, wii
* || |
U|| |
03 .
0 10 20 30 40 50 60 70 80
TP hits
=== DQM_V0001_R000000001__Global__CMSSW_ckiPUS0__RECO
—— DQM_V0001_R000000001__Global _CMSSW_mKFitPUSOLowPtQuad__RECO
—— DQM_V0001_R000000001__Global__CMSSW_LowptQnoclean__RECO
[Efficienc] —— DQM_v0001_R000000001_Global _CMSSW._looseSC__RECO
o 1.2
4] [
[ [
) [
e Ir
> L
Q
& [
2 0.8
8 3
© [
0.6
0.4~

0 5 10 15 20 25
TP layers

Efficiency vs pixel layer
0.5

o

efficiency vs pixel layers
o o
S N © w 9 »

0 1 2 3 4 5 6 7 8
TP pixel layers

Efficiency vs 3D layer

0.5

efficiency vs 3D layers

0.95,

0 2 4 6 8 101214161820
TP 3D layers



	Contents
	Page 1


